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8.1 Hypotenuse-Leg (HL) Theorem T

PAP Geometry Notes

Hypotenuse-Leg (HL) Congruence Theorem: “If the hypotenuse and leg of one right triangle
are congruent to the hypotenuse and leg of another right triangle, then the triangles are
congruent.”
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Determine if there is enough information to prove that the two triangles are congruent. If so,
name the congruence theorem used.

IfCS L SD, WD L SD, and P is the midpoint of CW and SD, is ACSP = AWDP?

Y

IfJA L MY andJY = AY, is AJYM = AAYM? hk”‘
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Create a proof of the following.
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8.2 CPCTC

Corresponding parts of congruent triangles are congruent: If two triangles are congruent,
then each part of one triangle is congruent to the corresponding part of the other triangle.

Abbreviated as CPCTGC, it is often used as a reason in proofs. CPCTC states that corresponding
angles or sides in two congruent triangles are congruent. This reason can only be used after you .2,
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have proven that the triangles are congruent. 2

Create a proof of the following.
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1. How wide is the horse’s pasture? 2. Calculate AP if the perimeter of AAYP is 43 cm.

24 +13= 42 ¥
ZX= BO X 70°
M=its
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EL 13cm
X 70°
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3. Given:ST =SR,TA =RA
Explain why 4T = £R.

4. Calculate m4T.
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Prove: AABC = ACDA
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